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COMPUTER SCIENCE
COMPUTER APPLICATION
INFORMATION TECHNOLOGY
(Honours Generic/ Regular Core)

For Honours Generic ° :
Answer the Questxons from any one Optlon

OPTION-A .
( Programming in C++ )
* Paper : CSC-HG-2016
~ * OPTION-B ,

( Database Management Sys'tem )
Paper : CSC-RC-2016 / CSC-HG-2026
'OPTION-C
( Introduction to Programming in C )
Paper : CSC- HG-2036 / TCA-HG / RC-2016 / TIT-RC-2016

'Full Marks : 60
Time : Three hours

The figures in the margin indicate
" Jull marks for the questions.

Answer either in English or in Assamese.
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Answer the following questions :

. oo 2{(Pe0d el Ml 3

OPTION - A
( Programming in C++)

Paper : CSC-HG-2016

1x7=7

(a) - State True or False :

(b)

(¢

C++ supports multiple inheritence.

ey (7 ey TEdl e

C++ O multiple inheritence 52 I | -

is a user defined type that

‘contain data members and member

functions.

‘ (Bl user defined type @ data
‘members ¥F member functions (@IFF
g{ ;A

State True or False :

In. C++, a reference variable is 2
pointer to a memory location.

Ty (o Go7ey ferl 8.

C++ 9, reference variable (&1 memory
location (5 9Bl pointer % @R -
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(@)

(e)

(9)

State True or False

In C++, ++ operator can only be used -
in integer and floating pointer number.
7] (A 7y fall ¢

C++ 9, ++ operator (5 SI& integer i
floating point YR CFae 7R I = |

What is L-value and R-value of an
expression ? '

@Bl expression ¥ L-value ®I% R-value
DICHEE:

What is the use of constructor in C++ ?

C++ © constructor ¥ '?U?J‘J:ﬁ e

State True or False :

In function overloading same function
name can be used in multiple
fun’ctioris, if parameter are different.

O] (W STy eIl 8 |
Function overloading © «@b! function

name (@ (32461 € function © &7 #4if¥

T parameter @ @5 Q@ |
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i Answer the following questions :

2x4=8

(@) What is the difference between a class

and an object in C++ ?

96l class 91 951 object 3 e i1 2

(b)) What is the use of new and delete

(c).

()

operators ?
‘new’ ©II% ‘delete’ operator I IRTF &2

What is variable ? Define the scope of
a variable.

Variable it & 3% ¢ Variable 3 scope ¥
e |

What is inline function ?
Inline function it f& e

Answer any three questions from the

following : 5x3=15
SR Ricpiet fofabt e Tew fat ¢ :
(a) Write the difference between call by

value and call by reference.

call by value ®I% call by reference ¥

Wvﬂ@ﬂqqur
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(b)

(c)

(d)

(e)
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Explain the concept of static ‘and
dynamic memory allocation in C++.-
Static ®% dynamic memory allocaﬁon

g YIAITH! 351 |

- difference

What is the between
function prototype. and function
definition in C++? Explain with

suitable example.

C++ § function prototype ®i% function
definition-3 &R sNLEe b2 Taeee R
A <4 |

What is friend function ? Write a C++
program to demonstrate the use of
friend function in a class.

Friend function W& & ez Friend
function-¥ A (TERE @Bl CH++
program &7l |

What is
Explain

n, Gt 2

types of

polymorphism
different
polymorphism 1n Ct+,

Polymorphism 3 & @2 C++ I iai |
polymorphism RS Y F1 |
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4. Answer any three questions from the:

following : : 10x3=30
o) fRrical fofit e Tea ¢

() What is the difference between a

constant pointer and pointer to

constant in C++? Explain with
suitable example.

C++ © 90l constant pointer &< pointer

to constant-9 &I *NLFH! 2 THmITZ
IR RS

(b) What is filestream in C++? Explain
different types of filestream. Write a
C++ program to read data from a file.

C++ © filestream WA & Joi? [Afeq @@=
filestream 29 3 41| €51 file-9 data
MZ read F99 AE C++ © &b program
ferar | a

(c) Write a C++ program to display the

factorial of a number using recursion. .

Recursion JI7ZR TR 6l AN factorial
TR C++ © 9Bl program fi|

(d) What is inheritence ? Explain about

different types of inheritence with
suitable example.
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I |
.

Inheritence = & W? [feq 437
inheritence 32 GWIZITZ [T T4 |

(e) What are structure and union ? Write

a C++ program to show the use of
array of structure. What is the
difference between break and coh_tinue
statement ?

 Structure SI¥ union WE & i@T? Array

of structure (AYARCH C++ © €bi program
o1l | Break ®I% continue statement-3
Aty 2|

" Create a class called ‘rectangle’, which

has three data members ‘ength’,
‘breadth’ and ‘area’ of the rectangle.
Write a‘public member function getData
() to take the initial values of length’
and readth’. Another public member
function getArea () will calculate the
area of the rectangle and display () will -
display all the information. Note that
area is calculated as length * breadth.
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‘rectangle’ WA Bl class AR, ¥
length’, ‘breadth’ ®i% ‘area’ MW fSFHGI
data member & | getData () i5E 46l
public member function &7l & length’

i - ‘breadth’T value ¥6! input =it -
&7 | getArea () @R &6l public member

function 1l RGIE rectangle (5IF area
(5 feeidl I W display () A <0
public member function i RcGiE
F&(e information display (1

GFl 2 area [l @ WG ®H
length » breadth|
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OPTION - B

( Database Management System)
Paper : CSC-RC-2016 /CSC-HG-2026

Fill in the blanks :

1x7=7
AT O1R AR < 8 '
(a) RDBMS stands for
RDBMS-¢q . . dfoRiag S&1
COUNT is a function in SQL. -

(b)

(c)

()

(e)

 Relational algebra-¥

SQL-¥ COUNT <l * function.

defines the ._property of an
entity. ‘
entity @Big (AP define IS |

DML stands for
DML-¢ #fsfifae =1

operator is used for select

operations in relational algebra.

operator

Bl select fFTE FEC TS =1 = |
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(fisThe identifies individual tuples
uniquely. :

Q 92F tuple AR 9T HAEII

IE|
~ (g) The basic data retrieval statement in
= BEL s 7
5T 77 A SQL © IR (R iAfie
e 7o l TR
2. Define the following terms : . 2x4=8
wee AR gl fordl 8

(a) Candidate key and Super key

(b) Simple attribute and Composite
attribute ‘

(c) Data independence

(d) Entity integrity and  Referential
' integrity. :

3. Answer any three questions : ox3=19,

fizeizan fofbr ass Teq el 3

(@)  What is relational al.gebra? Explain
any two operations of relational
algebra.
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4 e—

()

()

(d)

)

Answer any three of the following :

Relational algebra &7 21 Ricere 761
Fooate gt FRA1 .

Briefly explain the characteristics of
DBMS. :

DBMS-3 (AREF™R 540 Wit |

Briefly explain the three - DDL
commands with examples in SQL. ‘

Srigsdl s SQL- fSft DDL command
YT it |

Briefly explain.the DBMS architecture.
DBMS-F architecture It 7N 4 |

How to convert-ER diagram into
relational table ? Give the rules.

ER-diégrarﬁ-% 4 (IEE relational
table 5 Fie 4l 22 WRCH! o

10x3=30

Rl fofer exm es Frt s

(a) Explain the advantages and

disadvantages of DBMS. 5+5=10
DBMS-4 4l S SPIREIER il 41 |
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(b) Consider the relat10na1 schema and
write SQL statements to perform the
followmg tasks : . 2+2+2+2+2 10

[ relation schema (31 CE'{EIT o Arare

' WWSQLWM

_ WORKER (WORKER_ID, NAME, . . -
'SALARY, JOINING_DATE,
DEPARTMENT)

fi). Display worker ID and joining

date of Admin Department.

Admin Department< worker ID.
W% joining date ¥ A1 -

(ij) Display records . in ascending'

“order. of salary.

(ii) Display records having ‘salary in
~ the range 5000 to 9000.

5000-3 Il 9000 e T A

& A 3= |

(iv) Display the record of persons
 whose name ends with ‘a’.

AW @A TS TG @R e
(@6 Al 1
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P,
NS o

) "Display the récord of ;per'sons
whose name start with ‘S’. -
W ST TS OIS ] aﬂ@ﬂw
@?F@ 31"?“1%{ ] *
(c) . :Wnte short notes on the followmg .
o | © 5+5=10
.ﬁtﬁw ‘ ﬁw T Wﬁ«ﬁﬁms
| (i) Primary key
' (i) Foreign key
' (d) - Consider the following + relational |
“schema : : 24+2+2+2+2=10 °
& relational schema (3 (IRl 3

EMPLOYEE (Eno, "Ename, Salary,
DOB, Dnum)

' DEPARTMENT (Dnum, Dname, Mgrno)

Write  SQL statements . for the
following : -

T TR AW SQL%%%MI

(i) Display names and date of birth
. of managers of a]l departments '

HBCE department—ﬁ (S -
i T oifed amda )
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(ii) Display the names of all
employees withsalary < 9000.
9000 W& T wANZ (AR AR
AL A e |

(iii) Display the names of employees

working in each department.

Yr9)¢ department © FIN 4l D)
TR T 2w B |
(iv) Increase salary of every
employee by 10% . )
TR TG TR 10% Jiaw 4 |
(v) Display details of all employees
who born after 01.01.2000.

'01.01.2000 3 [2® TrHeD T4 Fce]
SN [IRe W3t

(e) Explain the 1NF, 2NF, 3NF and BCNF

with examples in RDBMS.
2+2+2+2+2=10

Twze9" 7Its RDBMS-A INF, 2NF, 3NF
@Is BCNF 51471 <541 |
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(1 Explain different types of functional
dependencies with proper examples.
T ICHESE e functional
dependencies3 o AFFRR I F41|
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OPTION-C
(Introduction to Programming in C)
Paper : CSC- HG-2036 / TCA-HG / RC-2016 / TIT-RC-2016

Answer the following questions | as
directed : : 1x7=7

Tﬁmmmﬁmmﬁrh%w

(a) Which of the followmg is a valid
identifier ?

R (RINCE! (3 ARG
(i) = Static

(@) For

(i) Integer

(iv) - Void
' (Choose_the correct option)

(&% sl Az Glerean)

(b)" Length( ) is a library function.
(State true or false)

Length( ) 0l library function.
(9% @ e )
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(c)

()

- (e)

(9)

Assignment operators have higher
precedence than arithmetic operators.
(State true or false)

Assignment operator 3§ precedence

arithmetic operator ©(& @R

(9% 7 S5 fersir)

_ statement is used to terminate
a loop. ¥ (Fill in the blank)

451 loop (. TR statement
RAECERIRC (el 12 799 )

Static variables are initialized only
onee. ' (State true or false)

Static variable @I¥® AR AREF T @
B e (8% (7 5% &)

Two pointers cannot be multiplied.
. (State true or false)

wol pointer 739 {1 @RIk
(o7 7 995 IGE)

function‘ is used to move or
change the position of the file pointer
to a specified offset. (Fill in the. blank)
File pointer-¥ R e SRR

function TR 4 2 (AT HZ 779 F)

3 (Sem~-2/CBCS) CSC HG 1/2/3,RC/G 17 - Contd.



2. Define the following terms : 2x4=8
ke Bl e
(a) Reserved word :
(b) Null statement

(¢) Scope of variable

(d) Array

3. Answer any three of the following
questions : 5x3=15
Rieetear fofaby e Tew frat s

(@) Explain different pI‘lmlthC data types
available in' C.

T Mﬁas data type T <o
_ o | _
(b) Differentiate between -

ArEIR fovar ¢

(i) Lvalue and Rvalue

(i) Break and Continye

(c) .What is storage class? List the
features of different storage classes.

Storage class &2 ﬁ] SH storage class 3

hﬁﬁmﬁﬁmn
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(d) Differentiate between function call by
value and call by reference with
suitable example.

Function call by value @i call by
reference ALFEET CHEIEE ce &4l |

(¢) Write a function to return the HCF of
two positive integers.

7Ol 419 7eR40E HCF Seaidtet b wisos
feral | ]

4. Answer any three of the following
questions : : 10x3=30
Ricizar fofor ex= Tws forall ¢
(a) Briefly explain the followmg library

functions : '
were library function (Fﬂﬂ?ﬂ' oY oo
faz | '
) pow()
() sqrt( )

(i) abs()
(iv) felose( )
(v) fseek( )

(b) What is recursion and how dees it
work ? Write a recursive function to

compute the factorial of a number.
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Recursion & 1% @EEE T IE? @Bl
RIS factona_l @%W élﬁ recurswe
o ?FRb-»I 'I%NH

~(c) Write a program Ato find roots of a
quadratlc equation.

aﬁtﬁwﬁaﬁ«m@%ﬂwm cmm-
e :

(d) Write’ a program to merge two sorted
© arrays. - '

WOl sorted array «ﬂﬁsﬁf@ (R @Ol ceelis
Sl

(e) erte ‘a program to multlply two .
" matrices.

@T matrix s34 A0 GBI Celfans ﬁ'«‘ﬂl
() . Write short notes on :
5y G fowl ¢

(i) . Relational and loglcal operators
(ii) Structure
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